








P, Q ,R, S ,T , U , V , W are 
sitting in a circular table 
facing inside. Three persons 
are sitting between P and Q.  
Q sits second to the right of R.
V is the immediate left of P .  
Two  person sit between R 
and S.  U is second to the 
right of V.  W is not an 
immediate neighbourof V.

P, Q, R, S, T, U, V, W ¤¾ 
ÀɨÙɟ¾ɟØ ÈɭÔÙ ¾ɭ yɰÏØ ÔɮÉɭ 
ßʅ] 3 ģ×ȐǞ P ©Ø Q ¾ɭÔɠÃ 
ÔɮÉɭ ßʅ] Q, R ¾ɭ Ïɟʁ ¨Ø 
ÏȕÞØɟ ģ×ȐǞ ßɮ]V, P ¾ɭ
¤¾ÏÖ Ôɟ¤ɰ ßɮ] R ©Ø S ¾ɭ 
ÔɠÃ Öʃ Ïɨ ģ×ȐǞ ÔɮÉÍɭ ßʅ] U, 
V ¾ɭ Ïɟʁ ̈ Ø Þɭ ÏȕÞØɟ ßɮ] 
W, V ¾ɟ Íĕ¾ɟÙ ÒîɨÞɠ Ñßɡɰ 
ßɮ]
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Some All No Some not Only Only a few

Frequently 100% 0% Not more than None but All but some

Generally Each None Only few

Occasionally Every Only a fewnot

Sometimes Complete

Mostly/almost/ap
proximately

Full

At least Every single

A few / few / 
fewer

Maximum

Minimum

1-99%

Fraction



Syllogism ς
Direction: Study the following arrangement 
carefully & answer the following questions:

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements:
Only a few pink are 
public.
All Metro are Pink.
All Metro are City.
Conclusion
I: All Public can never 
be Pink.
II: All City are Pink.

ᵗᵧ:χ 

ᵗᶇᵷᵴ ᵗᶁᵝ ᵬᵅᵗ ᵬᵿ ᵴᵗ ᵻ. 

ᵺᵯᶀ ᵰᶇ ᶋ ᵬᵅᵗ ᵻ. 

ᵺᵯᶀ ᵰᶇ ᶋ ᵿᵺᵡᶀ ᵻ. 

ᵿᵪ ᵗᵹ  

I: ᵺᵯᶀ ᵬᵿ ᵴᵗ ᵗᵯᶀ ᵬᵅᵗᵪᵻ  

ᵻᶋ ᵺᵗᵦᶇᶟ 

II: ᵺᵯᶀ ᵿᵺᵡᶀ ᵬᵅᵗ ᵻ ᶟ


